General English Model Test –3

1. John does not remember ........... he lent his umbrella to
   (a) Where (b) When (c) Who (d) Whom

2. He used to be a good football player ............?
   (a) wasn't he? (b) usedn't he? (c) isn't he? (d) didn't he?

3. The soil of Kuttanad is more fertile than
   (a) Kottayam          (b) of Kottayam
   (c) that of Kottyam (d) at Kottyam

4. John ........... visit the library everyday.
    (a) used to (b) invariably (c) always (d) frequently

5. Mary is ............ older than what she appears.
    (a) very (b) much (c) little (d) some

6. If I ........ the time, I would have spent a few more days with you.
   (a) got (b) had had (c) did have (d) was to have

7. In the tournament team A .......... team B
    (a) won (b) lost (c) beat (d) won to

8. By this day next year, my brother .......... his course.
    (a) complete (b) will complete
    (c) will be completing (d) will have completed

Questions (9-13): The italicized part of the sentence may have an error. The sentence can be made meaningful and correct by replacing the italicized part with one of the given alternatives. The letter of the alternative is the answer. If the sentence is correct as it is and no correction is needed mark, 'e' as the answer.
9. Naveen has left when I reached his home.
   (a) has to leave
   (b) had left
   (c) had leave
   (d) leaves
   (e) No correction required

10. Venkat tries to make me change my mind but I was firm.
     (a) tried
     (b) trying
     (c) would try
     (d) had been tried
     (e) No correction required

11. Maya has managed to complete the work I gave her.
     (a) would have managed
     (b) has management
     (c) had to manage
     (d) has to manage
     (e) No correction required.

12. Last year the Club has received a large donation.
     (a) had received
     (b) has to receive
     (c) has to receive
     (d) receives
     (e) No correction required

13. Prashant could reached by now if he had gone by taxi.
     (a) could reach
     (b) reached
     (c) should reach
     (d) could have reached
     (e) No correction required.

Questions (14-15): Choose the word which is most nearly the SAME
in meaning as the word given

14. UTTERLY
     (a) merely
     (b) disturbingly
     (c) totally
     (d) expressingly
     (e) verbally

15. AWFUL
     (a) huge (b) ugly (c) miserable (d) awkward (e) horrible

Questions (16-17): Choose the word which is most nearly the OPPOSITE in meaning as the word given

16. ARRIVE
    (a) Settle (b) Depart (c) Reach (d) Meet (e) Fail

17. FOUND
     (a) Missed (b) Lost (c) Destroy (d) Removed (e) Overlook

Questions (18-23): In each question below Four words (a), (b), (c),
(d) are given, one of which MAY BE WRONGLY SPELT. Find out that
word, the spelling of which is WRONG. The letter of that word is the
answer. If all the four words are spelt correctly, the answer is 'e' i.e.
"All correct".

18. (a) Repreive
     (b) Retrospect
     (c) Retreat
     (d) Receive
     (e) All correct

19. (a) Occasional
     (b) Occupational
     (c) Occurrence
     (d) Ocean
     (e) All correct

20. (a) Qualification
     (b) Qualm
     (c) Quarrel
     (d) Querry
     (e) All correct

21. (a) Glamour
     (b) Graduate
     (c) Grease
     (d) Greenery
     (e) All correct

22. (a) Demise
     (b) Furniture
     (c) Recliam
     (d) Premise
     (e) All correct

23. (a) Suggestion
     (b) Recomendation
     (c) Revelation
     (d) Suicide
     (e) All correct

Questions (24-33): Pick out the most effective word from the given
words to fill in the blank to make the sentence meaningfully
complete:

24. Amala asked me to ________ up the ladder.
     (a) get (b) got (c) go (d) goes (e) getting

25. Pramila was standing ________ far away to hear me clearly.
     (a) too (b) even (c) quite (d) distance (e) right

26. Neeti was ______ sure when Avinash would come back home
     as he stayed back in the office often.
     (a) nearly (b) none (c) neatly (d) no (e) never

27. Babu was looking at the painting with ______.
     (a) interest
     (b) interestedly
     (c) interests
     (d) interestingly
     (e) interested

28. _______ his failure Salim was not unhappy.
     (a) Despite (b) As (c) Since (d) Even though (e) Because

29. Deepti was _____ wet when she reached the school that day.
     (a) very (b) never (c) too (d) fully (e) clean

30. Naveen's ______ to reach there in time for the interview was
     understandable.
     (a) ambition
     (b) agreement
     (c) arrangement
     (d) activity
     (e) anxiety

31. I had to _______ some money from the office.
     (a) accept (b) collect (c) adjust (d) earn (e) lose

32. Neha turned ______ him and signalled to him to come forward.
     (a) for (b) towards (c) with (d) against (e) at

33. This person was caught by the police ______ also.
     (a) now (b) sooner (c) sometimes (d) earlier

Questions (34-38): Rearrange the following five sentences (A), (B),
(C), (D), (E) in the proper sequence so as to form a meaningful
paragraph; then answer the questions given below them:

34. (A) The peon reminded him that his lunch was uneaten.
     (B) During lunch break the peon placed lunch dishes on
          Jagdeeshan's table
     (C) By evening Jagdeesan began feeling hungry.
     (D) He was too busy even to notice him.
     (E) He then realized that he had not eaten the whole day.

Which sentence should come LAST in the paragraph?
     (1) A   (2) B   (3) C   (4) D   (5) E

35. (A) The peon reminded him that his lunch was uneaten.
     (B) During lunch break the peon placed lunch dishes on
          Jagdeeshan's table
     (C) By evening Jagdeesan began feeling hungry.
     (D) He was too busy even to notice him.
     (E) He then realized that he had not eaten the whole day.
Which sentence should come FOURTH in the paragraph?
     (1) A   (2) B   (3) C   (4) D   (5) E

36. (A) The peon reminded him that his lunch was uneaten.
     (B) During lunch break the peon placed lunch dishes on
          Jagdeeshan's table
     (C) By evening Jagdeesan began feeling hungry.
     (D) He was too busy even to notice him.
     (E) He then realized that he had not eaten the whole day.
Which sentence should come SECOND in the paragraph?
     (1) A   (2) B   (3) C   (4) D   (5) E

37. (A) The peon reminded him that his lunch was uneaten.
     (B) During lunch break the peon placed lunch dishes on
          Jagdeeshan's table
     (C) By evening Jagdeesan began feeling hungry.
     (D) He was too busy even to notice him.
     (E) He then realized that he had not eaten the whole day.
Which sentence should come FIRST in the sentence?
     (1) A   (2) B   (3) C   (4) D   (5) E

38. (A) The peon reminded him that his lunch was uneaten.
     (B) During lunch break the peon placed lunch dishes on
          Jagdeeshan's table
     (C) By evening Jagdeesan began feeling hungry.
     (D) He was too busy even to notice him.
     (E) He then realized that he had not eaten the whole day.
Which sentence should come THIRD in the paragraph?
     (1) A   (2) B   (3) C   (4) D   (5) E

Questions (39-45): In each of the following questions, six ords are given which are denoted by A, B, C, D, E and F. By using all the six words, each only once, you have to frame a meaningful and grammatically correct sentence. The correct order of the words is your answer. Choose from the four alternatives the one having the correct order of words and mark it as your answer on the answer sheet.

39. (A) money (B) he (C) to (D) his (E) gave (F) Ashok

     (a) FEDACB (b) BEACDF (c) ABECDF (d) BEDACF (e) DABECF

40. (A) food grain (B) production (C) gone (D) up (E) has (F) of

     (a) ABECFD (b) CDEABF (c) BFAECD (d) AFBECD (e) FABECD

41. (A) for (B) opened (C) family (D) door (E) we (D) connections

     (a) CFBDAE (b) FABCED (c) CBAEFD (d) CBAEDF (e) EBDACF

42. (A) behave (B) some (C) very (D) always (E) funnily (F) people

     (a) CEBFDA (b) FABCED (c) BFDACE (d) DBFACE (e) DACFBE

43. (A) has (B) rung (C) he (D) me (E) up (F) never

     (a) CAFBDE (b) CABDEF (c) ACFBDE (d) ACBDEF (e) FBDECA

44. (A) diwali (B) surfaced (C) had (D) he (E) again (F) last

     (a) ECDBFA (b) AFBDCE (c) CDBEAF (d) FADCBE (e) DCFBEA

45. (A) actually (B) jokes (C) are (D) sensitive (E) me (F) about

     (a) ECFDAB (b) CEADFB (c) ABCFED (d) BCDFEA (e) ADECFB

Directions (46-50): Sentences are given with blanks to be filled in with an appropriate word(s). Four alternatives are suggested for each question. Choose the correct alternative out of the four and then indicate it.

46. I haven't eaten an apple _______ a long while.
     (a) from (b) since (c) for (d) until

47. The _______ brought against the Ministry was rejected by a
     vast majority in the Lower House of Parliament.
     (a) bill (b) motion (c) decree (d) suit

48. The team was well trained and strong, but somehow their ____
     was low.
     (a) feeling (b) moral (c) consciousness (d) morale

49. Owing to the power cut in the area, factories are being forced
     to _____ men.
     (a) throw away (b) send off (c) put off (d) lay off

50. The building comprises _______ sixty rooms.
     (a) of (b) into (c) by (d) no preposition needed
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